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You scored O out of 100

Question 1

You did not answer the question.
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You did not answer the question.
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Question 2

According to the Burean of the Census, the population of the United Stites 1990 was approximately 249 nullion and m 2000, 281
miltion. Use this information to estimate the population n 1960, (o)
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You did not answer the question. ZL(»‘? PO e,

According to the Bureaw of the Census, the population of the United States in 1990 was approximely 249 aullion wnd n 2000, 281
million. Use this information o predict the population for 2020
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Question 4

You did not answer the question.

The half-fife of radiun-226 15 1620 yours. What percentage of a given amount of the radium will reman after 700 yizes?
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You did not answer the question.

The cost of the tuition, fees, room. and board &t ABC College is currently SR80 per year. What would you expect to pay 2 years from
now if’ the costs at ABC we rising at the continuously compuounded rae of 87
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You did not answer the question. J/
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Question 7
You did not answer the question.

Differentiate
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Question 8
You did not answer the question.

Diftereatiate
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You did not answer the question.

Difterentiate
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You did not answer the question.
Question 12

Evalwate the given inegral = \[i ) You did not answer the qUCS[iOn,

Eraluate the ntegral
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You did not answer the question. ,
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Evaluaie the given integral,
: ° 2 =2 C{X Question 13

’ Loy — —5 You did not answer the question.
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Question 14

You did not answer the question.,

Calculate the given indefinite mtegral
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You did not answer the question.

Ihe region buunded by the graph of f between v = G and v= 11 is revolved shout the v axis. Find the volume of the resultng solid.
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Question 16

You did not answer the guestion.

Difterestiate the given function
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You did not answer the question.

Dilferentiate the given function.
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Question 18 Question 20
You did not answer the guestion., You did not answer the question.

Calculite the indefimute mizepal Find the average value of f(v) on the interval [ 22]
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